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8-4 Vv FEWM T 2 DKRMm )
(1) Vo 7EBHNT R (FF R : 1) OKRMII
[Ef L T 2205 b7 Mo #Tm A ERRIC L 5, — 1 = Cy
Mm= I—L} Mc (3.2.1) g u
Ne [
ZZT Ne: R REHMOERTAE. (.2 3)RIC k- THET S, . - i
1) N T AEH ORI 7 : NeDFE .
Ac=pic Ne=Ny u u
I I
plc<ic=elc Ne= 1.07-0.44@ - Ny (3.2.3) A] 1 —Cy
elc< dc Nc=0.83 * Ne @
Ny=Fy * Ao
72720, NeDFEAMIZES U Cid, SIS R FHIEMELL 6N EMEM OEIC X v . MR A Z5H5 L.
N=( 7°E/ A *)Ao L LTHEHET S,
Y I N T A T4 C3% | T4 C3¥%H | T4 C3%w | T4 C3w | T4 C3u HiAL
BB No. 5 5 5 5 5
b Z Z558 0 C=[ 10050 X | 100X 50 X [ 100X 50X | 100 X 50 X | 100X 50 X
20%3.2 | 20x3.2 | 20x3.2 | 20x3.2 | 20%x3.2
N B 0. 00 0. 00 0. 00 0. 00 0.00| [kN]
E : Yo U %% 205000 205000 205000 205000 205000( [N/mm2]
Fy : FRIRIEE 258 258 258 258 258| [N/mm2]
Fu : e KB15RM} /) 400 400 400 400 400| [N/mm2]
A Yy TIERMOE S 50 50 50 50 50{  [mm]
B U v ZIEEHMOE 100 100 100 100 100 [mm]
C Vo TWEMOY v TR 20 20 20 20 20| [mm]
t Uy FIEEMHOBRE 3.2 3.2 3.2 3.2 3.2 [mm]
Cy : W—M LD 1.86 1.86 1.86 1.86 1.86]  [cm]
Ao+ BA—HA T A 7.01 7.01 7.01 7.01 7.01] [em2]
Ixo : Hi—#F XHllid —KE— A L b 107. 00 107. 00 107. 00 107. 00 107.00] [cm4]
Iyo : WM Y8 —KE—A b 24.50 24. 50 24. 50 24.50 24.50| [cm4]
H o ENZRE R Ak 60.0 60. 0 60.0 60. 0 60.0[ [cm]
J M oKL R H-2 X Cy= 56. 3 56. 3 56. 3 56. 3 56.3] [cm]
/2 MO LE 28. 1 28. 1 28. 1 28. 1 28.1| [cm]
Ag : RNEAA I AR 14.01 14.01 14.01 14.01 14.01| [cm2]
Ix : FHNZM Xl ke — A v b 11146 11146 11146 11146 11146| [cm4]
Iy : AANZB Y sl —RE— A 2 B 214 214 214 214 214 [cmd]
a) FANZJEMM OFEEIZ OV TCOMELOFE X, H—MOREIZL D,
A 1 PR (RELSZAA)
T4 C3%% | T4 C38 | T4 C3%s | T4 C3%H | T4 O34 HifL
Lkxc : #mNERERE S 290. 0 290. 0 290. 0 290. 0 290.0| [cm]
ixre : JEBENC OV T OB e 28. 20 28. 20 28. 20 28. 20 28.20| [cm]
Lxc  FMAEIRE Lz & omANHEL 10 10 10 10 10
A N (B —44)
T4 C3%% | T4 C38 | T4 C33% | T4 C3%H | T4 034 HifL
Lkxo : AN H— MR R X 60.0 60.0 60.0 60.0 60.0[ [cm]
ixro : JERENIC OV T DM e 1.87 1.87 1.87 1.87 1.87|  [em]
A xo_: FM OHEENME L 32 32 32 32 32
b) FNLEHGH O FEME TR VI DWW T OERICK LTk, MM OMELZE VL L CRETS
TSR (G —41)
T4 C3%% | T4 C38% | T4 C33% | T4 C3%H | T4 C3u4 HifL
Lkyo : Ao — MR R 290. 0 290. 0 290. 0 290. 0 290.0| [cm]
iyro : JERENC OV T DM LR 3.91 3.91 3.91 3.91 3.91] [cm]
Ayo : FM OHEEIMNE L 74 74 74 74 74
Zh kv, A=max(Lxc, Lxo, Lyo)= 74 74 74 74 74
T TR T 0032 Ne=( *E/ 1 *)Ao= 258.9 258.9 258.9 258. 9 258.9|  [kN]
Ny : BE{RHil /1=Fy - Ao= 180. 8 180. 8 180.8 180.8 180.8[ [kN]
2 o=V Ny/Ne = 0. 836 0. 836 0. 836 0. 836 0. 836
Ne : kT RERM O ERET /1 Ne= 127.0 127.0 127.0 127.0 127.0 [kN]
2 c DT NeDHEEX Nec O Ne Dl Nec O Ne Dl Ne D fiE
1¢=0.15 Ny 180.8 180. 8 180.8 180.8 180.8|  [kN]
0.15¢1c=1.29 (1. 07-0. 44 2 ¢)Ny 127.0 127.0 127.0 127.0 127.0|  [kN]
1.29< 2 ¢ 0. 83Ne 214.9 214.9 214.9 214.9 214.9] [kN]
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2) I RZOMTM S McDBEE
(3.2.3) KT L > THEET B2, NeDFHMIZIS 1T 2 IR S 1, A IS DU IR s .
e M DV IR RS 35,

T4 c3t | T4 o33 | T4 c3wp | T4 c3s | T4 3 HAAL
J M OO R 56. 28 56. 28 56. 28 56. 28 56.28| [cm]
Pe : JEARMIRAS O LA /) 127.0 127.0 127.0 127.0 127.0[  [kN]

o BEEREK 1.2 1.2 1.2 1.2 1.2

Pu : BIRMIBEMICE £ 855D R K5 9E
Pu=min (Pul, Pu2, Pu3) = 280. 3 280. 3 280. 3 280. 3 280.3[  [kN]
Pul @ REM CIRE D Pul=Fu * Ao= 280. 3 280.3 280. 3 280. 3 280.3|  [kN]
Pu2 @ AV hTRE DS Pu2= 500. 0 500. 0 500. 0 500. 0 500.0|  [kN]
Pu3 : EEETCIRE B Pu3= 400. 0 400. 0 400. 0 400. 0 400.0]  [kN]
Pu
Mc=j * min Pc,;} 71.5 71.5 71.5 71.5 71.5| [kN-m]
N

. Mm= kRJMc: 71.5 71.5 71.5 71.5 71.5| [kN-m]

3) b TREH O AW QR E

Plu

Qn=sin 6 - min{Plc, — (3.2.17a), (3.2.17b)

Ple : 7 F AM OEHMM /T (3. 2. 18) AN 528, PeDFHIC Y 72 o T, JEER S 13K A -
Mgk & b EiR RS 35,

ALc=pAlc PLc=Py
pLAlc<ALc=eAlc Ple= 1.074).44‘/2} © Py (3.2.3)
elle<AlLe PLc=0.83 + Pe

Py=Fy + Ao

Plu : 7F AMICE TN DA ORKTIES
D BEARE(G=L 2)

Qe

5 F 2K L T4 C3%k | T4 C38% | T4 C3%% | T4 C3uk | T4 C3%h HiAL
E : v 785 205000 205000 205000 205000 205000] [N/mm2]
Fy : BR{RIEME 258 258 258 258 258| [N/mm2]
Fu : FRB10EM /1 400 400 400 400 400| [N/mm2]
n : FFAM -1, -2 2 2 2 2 2
o FUEAER ¢ = 16 16 16 16 16|  [mm]
Lx : MENE-MERESD1 2 Lkxo/2= 30.0 30.0 30.0 30.0 30.0] [cm]
Ly : ST SR R H= 60.0 60.0 60.0 60.0 60.0| [cm]
0 : FFAMB T AMEE 723 A 63. 43 63.43 63. 43 63. 43 63.43| [FE]
Lk - fi s B R 67 67 67 67 67]  [cm]
Ao : 1 AR OWiikEiFk 2.01 2.01 2.01 2.01 2.01] [endi]
ix W R 0. 40 0. 40 0. 40 0. 40 0.40| [cm]
A TTFAMOMEL 167.7 167.7 167.7 167. 7 167.7
Py : B&REHF Py=Fy * Ao= 51.9 51.9 51.9 51.9 51.9| [kN]
Pe @ B AR R 1T 77 Pe=( 7 °E/ A *)Ao= 14.5 14.5 14.5 14.5 14.5|  [kN]
A=y Py/Pe = 1.89 1.89 1.89 1.89 1.89
Ple : T F AWM OJEHEI 5 PLe= 12.0 12.0 12.0 12.0 12.0 [kN]
A Le D pH PLeDHIE PLcDff | PLeDfii | PLcDfEi | PLcDf | PLcDfiE
ALc=0.15 Py 51.9 51.9 51.9 51.9 51.9]  [kN]
0.15<ALc=1.29 (1.07-0. 44 A Le) Py 12.3 12.3 12.3 12.3 12.3]  [kN]
1.29< A Le 0. 83Pe 12.0 12.0 12.0 12.0 12.0]  [kN]
Plu=Ao * Fu= 80. 4 80. 4 80. 4 80. 4 80.4| [kN]
B ) ) Plu
(5 F 2B 1A%y) SOn=sin @ - mln{[’lc,j}: 10.7 10.7 10.7 10.7 10. 7| [kN]
H—IH= 10. 7 10.7 10.7 10.7 10. 7| [kN]
o IH= 59.9 59.9 59.9 59.9 59.9]  [kN]
2 X Qm= 21.5 21.5 21.5 21.5 21.5| [kN]




